| _ | | | | DID IAD | BLATION | _ | | | | |
|------------|---|------------------|----------|--|-----------------------------|--|-----------------------------|---|-----------------------------|--|
| | East Broad Street: approx. 700' east of Holland Roa W.A. 09004 Bid Opening Date: May 16, 2013 | d to City Limits | | XIT Paving & 3934 S. Hwy. Waxahachie, | | JLB Contracting 7151 Randol Mil Fort Worth, Texa | I Rd, PO Box 24131 | McClendon Construction Co., Inc. P.O. Box 999 Burleson, Texas 76097 | | |
| ITEM NO. | DESCRIPTION OF ITEM | QUANTITY | UNIT | PRICE | COST | PRICE | COST | PRICE | COST | |
| | PAVING | | | | | | | | | |
| 100 | Bonds, Insurance & Mobilization | 1 | LS | \$200,197.00 | \$200,197.00 | \$65,000.00 | \$65,000.00 | \$65,850.00 | \$65,850.00 | |
| 100 | Unclassified Roadway Excavation | 15,861 | | \$6.98 | \$110,709.78 | \$14.00 | \$222,054.00 | \$13.50 | \$214,123.50 | |
| 101 | Controlled Density Roadway Embankment | 5,246 | | \$2.05 | \$10,754.30 | \$6.30 | \$33,049.80 | \$9.50 | \$49,837.00 | |
| 103 | Right-of-way Preparation | 5,240 | LS | \$46,281.81 | \$46,281.81 | \$35,150.00 | \$35,150.00 | \$84,775.00 | \$84,775.00 | |
| 103 | Remove Exist. Conc. Street / Drive Pavement | 3,487 | | \$40,261.61 | \$17,295.52 | \$6.30 | \$21,968.10 | \$5.00 | \$17,435.00 | |
| | Remove Exist. Conc. Street / Drive Pavement Remove Exist. Median Cap | | | | \$71.52 | | \$268.80 | \$7.25 | | |
| 105 106 | Remove Exist. Median Cap Remove Exist. Concrete Sidewalk | 16 96 | | \$4.47 \$3.51 | \$336.96 | \$16.80 \$8.40 | \$806.40 | \$4.25 | \$116.00 \$408.00 | |
| 106 | Remove Exist. Concrete Sidewalk Remove Exist. Rock Rubble Riprap | 162 | | \$8.74 | \$336.96 \$1,415.88 | \$4.75 | \$769.50 | \$18.00 | \$2,916.00 | |
| 107 | Remove Exist. Rock Rubble Riprap Remove Exist. Conc. Pilot Channel | 40 | | \$9.41 | \$376.40 | \$4.75 | \$190.00 | \$15.00 | \$600.00 | |
| 108 | Remove Exist. Conc. Pilot Channel Remove Exist. 30 " HDPE Storm Drain Pipe | 796 | | \$5.18 | \$376.40 \$4,123.28 | \$7.10 | \$5,651.60 | \$18.00 | \$14,328.00 | |
| 110 | Remove Exist. 30 HDFE Storm Drain Pipe Remove Exist. 15" to 18" CMP | 134 | | \$6.00 | \$804.00 | \$5.25 | \$703.50 | \$15.00 | \$2,010.00 | |
| 111 | Remove 15" to 30" RCP Storm Drain Pipe | 798 | | \$4.13 | \$3,295.74 | \$8.40 | \$6,703.20 | \$16.00 | \$12,768.00 | |
| 112 | Remove Exist. Drop Inlet | 798 | | \$575.50 | \$3,295.74 \$1,726.50 | \$615.00 | \$1,845.00 | \$550.00 | \$12,768.00 | |
| | | 2 | _ | \$598.42 | | | | \$550.00 | | |
| 113 114 | Remove Exist. Curb Inlet Remove Exist. Grate Inlet | 2 | EA | \$598.42 | \$1,196.84 \$1,196.84 | \$655.00 \$555.00 | \$1,310.00 \$1,110.00 | \$550.00 | \$1,100.00 \$1,100.00 | |
| 115 | | 3 | EA | \$363.63 | \$1,196.84 | \$350.00 | \$1,050.00 | \$350.00 | | |
| 116 | Remove Exist. 18" to 30" Sloping Headwall | 3 | EA | \$427.80 | \$427.80 | \$450.00 | \$450.00 | \$600.00 | \$1,050.00 \$600.00 | |
| 117 | Remove Exist. Dbl. 24" Sloping Headwall | 1 | EA | \$296.40 | \$296.40 | \$375.00 | \$375.00 | \$650.00 | | |
| 117 | Remove Exist. Dbl. 24" Flared Headwall Remove Exist. Storm Drain Manhole | 1 | EA | \$296.40 \$777.40 | | | | \$750.00 | \$650.00 \$750.00 | |
| | | 508 | | \$2.00 | \$777.40 | \$595.00 \$1.58 | \$595.00 | \$2.50 | | |
| 119 | Remove Exist. Chain Link Fence | 508 | | | \$1,016.00 | | \$802.64 | | \$1,270.00 | |
| 120 | Remove & Salvage Existing Farm Gate | 381 | EA LF | \$148.28 | \$148.28 | \$210.00 | \$210.00 | \$50.00 | \$50.00 | |
| 121 | Remove Exist. Fiberglass Rail Fence | 381 | LS | \$2.67 | \$1,017.27 | \$3.94 | \$1,501.14 | \$2.50 | \$952.50 | |
| 122 | Remove Exist. Pavement Markings | 24.704 | | \$1,856.25 | \$1,856.25 | \$1,770.00 | \$1,770.00 | \$2,600.00 | \$2,600.00 | |
| 123 | 12" Lime Stabilized Subgrade (54 lbs/SY) | 31,721 | | \$2.51 | \$79,619.71 | \$2.46 | \$78,033.66 | \$3.50 | \$111,023.50 | |
| 124 125 | Hydrated Lime 7" Reinforced Concrete Street Pavement | 830.4 | TON | \$146.06 \$36.79 | \$125,085.78 \$30,609.28 | \$147.50 \$42.49 | \$126,319.00 \$35,351.68 | \$150.00 \$40.00 | \$128,460.00 \$33,280.00 | |
| 125 | 9" Reinforced Concrete Street Pavement | | | \$34.47 | | | | \$38.00 | | |
| | | 28,003 163 | | \$34.47 \$50.77 | \$965,263.41 | \$38.00 | \$1,064,114.00 | \$38.00 | \$1,064,114.00 | |
| 127 | 10" Reinforced Concrete Street Pavement | | | | \$8,275.51 | \$116.44 | \$18,979.72 | | \$9,780.00 | |
| 128 | 6" Concrete Curb & Gutter | 19 | | \$27.36 | \$519.84 | \$42.56 | \$808.64 | \$16.00 | \$304.00 | |
| 129 | 6" Type "D" Asphaltic Pavement | 810 227 | | \$38.17 | \$30,917.70 | \$28.00 \$6.30 | \$22,680.00 | \$36.00 \$13.00 | \$29,160.00 | |
| | 6" Rolled Asphalt Curb | | | \$14.30 | \$3,246.10 | | \$1,430.10 | | \$2,951.00 | |
| 131 | 6" Reinforced Concrete Drive Pavement | 1,903 | | \$33.03 | \$62,856.09 | \$36.54 | \$69,535.62 | \$36.50 | \$69,459.50 | |
| 132 | 4" Thick Reinforced Concrete Sidewalk | 4,808 | | \$29.03 | \$139,576.24 | \$27.61 | \$132,748.88 | \$30.00 | \$144,240.00 | |
| 133 | Reinforced Concrete Retaining Wall | 58.1 | _ | \$467.10 | \$27,138.51 | \$630.00 | \$36,603.00 | \$650.00 | \$37,765.00 | |
| 134 | Curb Ramps per TxDOT Details | 17 | | \$841.62 | \$14,307.54 | \$695.00 | \$11,815.00 | \$400.00 | \$6,800.00 | |
| 135 | Curb Ramps per Plan Detail Sheet P312 | 7 | EA | \$844.76 | \$5,913.32 | \$1,190.00 | \$8,330.00 | \$1,350.00 | \$9,450.00 | |

| _ | | | | BID TABL | LATION | 1 | | 1 | | |
|----------|--|----------------|------|-----------------------------|-------------|---|-----------------------|---|-------------|--|
| | East Broad Street: approx. 700' east of Holland Road W.A. 09004 Bid Opening Date: May 16, 2013 | to City Limits | | XIT Paving & 3934 S. Hwy. 2 | | JLB Contractii 7151 Randol N Fort Worth, Te | Mill Rd, PO Box 24131 | McClendon Construction Co., Inc. P.O. Box 999 Burleson, Texas 76097 | | |
| ITEM NO. | DESCRIPTION OF ITEM | QUANTITY | UNIT | PRICE | COST | PRICE | COST | PRICE | COST | |
| 136 | Curb Ramps per City Std. Details | 2 | EA | \$787.59 | \$1,575.18 | \$600.00 | \$1,200.00 | \$500.00 | \$1,000.00 | |
| 137 | Pavestone Median Cap | 534 | SY | \$49.97 | \$26,683.98 | \$62.33 | \$33,284.22 | \$73.00 | \$38,982.00 | |
| 138 | Place 4" Topsoil on Medians, Parkways & Slopes | 27,558 | SY | \$1.97 | \$54,289.26 | \$1.10 | \$30,313.80 | \$1.75 | \$48,226.50 | |
| 139 | Bermuda Grass Sod | 5,333 | SY | \$2.70 | \$14,399.10 | \$3.18 | \$16,958.94 | \$3.00 | \$15,999.00 | |
| 140 | Hydromulch Seed Parkways, Medians & Slopes | 22,225 | SY | \$0.75 | \$16,668.75 | \$0.81 | \$18,002.25 | \$0.75 | \$16,668.75 | |
| 141 | 6" Sch. 40 PVC Irrigation Conduit | 452 | LF | \$8.48 | \$3,832.96 | \$15.75 | \$7,119.00 | \$8.00 | \$3,616.00 | |
| 142 | 4" Sch. 40 PVC Grey Electrical Conduit | 452 | LF | \$6.19 | \$2,797.88 | \$13.65 | \$6,169.80 | \$4.50 | \$2,034.00 | |
| 143 | 4" SDR Type "A" Perforated Pipe Ret. Wall Underdrain | 68 | LF | \$6.60 | \$448.80 | \$5.25 | \$357.00 | \$10.00 | \$680.00 | |
| | 6" SDR Type "A" Perforated Pipe Sub-drain | 5,602 | LF | \$6.60 | \$36,973.20 | \$7.89 | \$44,199.78 | \$10.00 | \$56,020.00 | |
| 145 | Sub-Drain Clean-out | 19 | ΕA | \$152.78 | \$2,902.82 | \$200.00 | \$3,800.00 | \$300.00 | \$5,700.00 | |
| 146 | Concrete Street Header | 61 | LF | \$5.95 | \$362.95 | \$7.80 | \$475.80 | \$11.00 | \$671.00 | |
| 147 | 5-Strand Smooth Wire Fence | 2,060 | LF | \$3.69 | \$7,601.40 | \$5.78 | \$11,906.80 | \$3.35 | \$6,901.00 | |
| 148 | 6' High Chain Link Fence | 465 | LF | \$19.25 | \$8,951.25 | \$19.32 | \$8,983.80 | \$17.50 | \$8,137.50 | |
| 149 | Double 6' Chain Link Fence Gate | 1 | EΑ | \$1,320.00 | \$1,320.00 | \$903.00 | \$903.00 | \$1,200.00 | \$1,200.00 | |
| 150 | Install Salvaged Farm Gate | 1 | EA | \$165.00 | \$165.00 | \$336.00 | \$336.00 | \$150.00 | \$150.00 | |
| 151 | Install Temp. Smooth Wire Const. Phase Fence | 350 | LF | \$3.30 | \$1,155.00 | \$5.78 | \$2,023.00 | \$3.00 | \$1,050.00 | |
| 152 | Remove Temp. Construction Phase Fencing | 350 | LF | \$1.10 | \$385.00 | \$1.58 | \$553.00 | \$1.00 | \$350.00 | |
| 153 | Type "D" Pedestrian Handrail | 43 | LF | \$117.77 | \$5,064.11 | \$210.00 | \$9,030.00 | \$85.00 | \$3,655.00 | |
| 154 | Adjust or Relocate Exist. Lowe's Farm Irrigation | 1 | LS | \$11,733.75 | \$11,733.75 | \$6,090.00 | \$6,090.00 | \$13,600.00 | \$13,600.00 | |
| 155 | Adj. or Relocate Exist. Bankston Meadows Irrigation | 1 | LS | \$2,346.75 | \$2,346.75 | \$1,680.00 | \$1,680.00 | \$3,400.00 | \$3,400.00 | |
| 156 | Adj. or Relocate Exist. Mira Lagos Irrigation | 1 | LS | \$1,564.50 | \$1,564.50 | \$1,785.00 | \$1,785.00 | \$3,800.00 | \$3,800.00 | |
| 157 | Adjust Exist. W.V. to Finished Grade | 23 | EΑ | \$156.64 | \$3,602.72 | \$270.00 | \$6,210.00 | \$50.00 | \$1,150.00 | |
| 158 | Adjust Exist. W.M. to Finished Grade | 1 | EΑ | \$203.28 | \$203.28 | \$38.00 | \$38.00 | \$50.00 | \$50.00 | |
| 159 | Relocate School Zone Flasher & Sign | 3 | EΑ | \$3,300.00 | \$9,900.00 | \$1,280.00 | \$3,840.00 | \$2,700.00 | \$8,100.00 | |
| 160 | Remove & Replace Rock Column & Footing | 1 | EΑ | \$1,650.00 | \$1,650.00 | \$3,150.00 | \$3,150.00 | \$800.00 | \$800.00 | |
| 161 | Relocate Existing Commercial Sign | 2 | EA | \$550.00 | \$1,100.00 | \$880.00 | \$1,760.00 | \$165.00 | \$330.00 | |
| 162 | 4" Round White Type 1-W Ref. Ceramic Pvmt Markers | 359 | EΑ | \$6.60 | \$2,369.40 | \$9.29 | \$3,335.11 | \$7.00 | \$2,513.00 | |
| 163 | 4" Non-reflectorized White Ceramic Pavement Markers | 1,841 | EA | \$3.30 | \$6,075.30 | \$3.13 | \$5,762.33 | \$2.75 | \$5,062.75 | |
| 164 | 4" Type II-C-R Pavement Markers | 29 | EΑ | \$6.60 | \$191.40 | \$3.55 | \$102.95 | \$3.00 | \$87.00 | |
| 165 | 4" Round White Type 2-Y Ref. Ceramic Pvmt Markers | 82 | EA | \$6.60 | \$541.20 | \$11.92 | \$977.44 | \$9.00 | \$738.00 | |
| 166 | 4" Non-reflectorized Type AY Ceramic Pvmt Markers | 120 | EΑ | \$3.30 | \$396.00 | \$3.13 | \$375.60 | \$2.75 | \$330.00 | |
| 167 | 4" x 10' Thermoplastic White Broken Stripe | 120 | LF | \$0.72 | \$86.40 | \$0.89 | \$106.80 | \$1.00 | \$120.00 | |
| 168 | 4" x 2' Thermoplastic Broken Stripe (Puppy Tracks) | 30 | LF | \$0.72 | \$21.60 | \$1.05 | \$31.50 | \$5.25 | \$157.50 | |
| 169 | 4" Wide White Thermoplastic Continuous Stripe | 255 | LF | \$0.72 | \$183.60 | \$0.89 | \$226.95 | \$1.25 | \$318.75 | |
| | Double 4" Yellow Thermoplastic Continuous Stripe | 103 | LF | \$1.43 | \$147.29 | \$1.79 | \$184.37 | \$2.25 | \$231.75 | |
| 171 | 24" Type I Thermoplastic Stop Bar | 319 | LF | \$6.60 | \$2,105.40 | \$5.36 | \$1,709.84 | \$5.25 | \$1,674.75 | |
| 172 | Type 1 Thermoplastic Intersection Crosswalk (24"x8') | 82 | ΕA | \$52.80 | \$4,329.60 | \$42.00 | \$3,444.00 | \$57.50 | \$4,715.00 | |
| 173 | Type I Thermoplastic Left Turn Arrow | 4 | EA | \$137.50 | \$550.00 | \$110.00 | \$440.00 | \$115.00 | \$460.00 | |

| | | | | | <u> </u> | 1 | T | T | | |
|----------|--|----------------|----|--------------|--|-----------------------------|-----------------------|---|----------------|--|
| | East Broad Street: approx. 700' east of Holland Road W.A. 09004 Bid Opening Date: May 16, 2013 | to City Limits | | 3934 S. Hwy. | Construction, Inc. 287 Texas 75165 | JLB Contract 7151 Randol | Mill Rd, PO Box 24131 | McClendon Construction Co., Inc. P.O. Box 999 Burleson, Texas 76097 | | |
| | | | • | | | | | | | |
| ITEM NO. | | QUANTITY | | | COST | PRICE | COST | PRICE | COST | |
| 174 | Type I Thermoplastic Right Turn Arrow | 5 | | \$137.50 | | \$110.00 | \$550.00 | \$115.00 | \$575.00 | |
| 175 | Type I White Thermoplastic Through/Left Turn Arrow | 2 | | \$242.00 | | \$185.00 | \$370.00 | \$170.00 | \$340.00 | |
| 176 | Type I White Thermoplastic Through/Right Turn Arrow | 1 | EA | \$242.00 | • | \$185.00 | \$185.00 | \$170.00 | \$170.00 | |
| 177 | Type I White Thermoplastic Straight / Merge Arrow | 2 | | \$104.50 | • | \$185.00 | \$370.00 | \$115.00 | \$230.00 | |
| 178 | Type I White Thermoplastic Word "ONLY" | 6 | | \$121.00 | | \$110.00 | \$660.00 | \$135.00 | \$810.00 | |
| 179 | Erosion Control Measures | 1 | LS | \$22,103.00 | | \$5,250.00 | \$5,250.00 | \$29,500.00 | \$29,500.00 | |
| 180 | Traffic Control Measures | 1 | LS | \$33,845.30 | | \$16,915.00 | \$16,915.00 | \$14,500.00 | \$14,500.00 | |
| 181 | Type A Grade 1 Flex Base for Temp drive access | 500 | | \$6.16 | | \$26.40 | \$13,200.00 | \$20.50 | \$10,250.00 | |
| 182 | Temp 6" Type "D" HMAC | 2,400 | SY | \$41.78 | | \$27.17 | \$65,208.00 | \$29.62 | \$71,088.00 | |
| | SUBTOTAL | , | | | \$2,296,065.32 | | \$2,349,657.06 | | \$2,509,868.25 | |
| | | | | | | | | | | |
| II | DRAINAGE | | | | | | | | | |
| 201 | 18" R.C.P. Storm Drain Pipe Class III | 618 | LF | \$40.83 | \$25,232.94 | \$49.10 | \$30,343.80 | \$52.00 | \$32,136.00 | |
| 202 | 21" R.C.P. Storm Drain Pipe Class III | 464 | LF | \$50.70 | \$23,524.80 | \$54.50 | \$25,288.00 | \$53.00 | \$24,592.00 | |
| 203 | 24" R.C.P. Storm Drain Pipe Class III | 418 | LF | \$53.22 | \$22,245.96 | \$60.60 | \$25,330.80 | \$54.00 | \$22,572.00 | |
| 204 | 24" R.C.P. Storm Drain Pipe Class IV | 29 | | \$59.02 | \$1,711.58 | \$66.60 | \$1,931.40 | \$68.00 | \$1,972.00 | |
| 205 | 27" R.C.P. Storm Drain Pipe Class III | 665 | | \$62.03 | | \$68.00 | \$45,220.00 | \$62.00 | \$41,230.00 | |
| 206 | 30" R.C.P. Storm Drain Pipe Class III | 664 | | \$63.76 | | \$75.00 | \$49,800.00 | \$70.00 | \$46,480.00 | |
| 207 | 30" R.C.P. Storm Drain Pipe Class IV | 61 | | \$72.24 | | \$82.00 | \$5,002.00 | \$81.00 | \$4,941.00 | |
| 208 | 33" R.C.P. Storm Drain Pipe Class III | 270 | | \$77.13 | | \$85.00 | \$22,950.00 | \$80.00 | \$21,600.00 | |
| 209 | 36" R.C.P. Storm Drain Pipe Class III | 986 | | \$81.78 | | \$97.00 | \$95,642.00 | \$87.00 | \$85,782.00 | |
| 210 | 42" R.C.P. Storm Drain Pipe Class III | 899 | | \$105.46 | | \$122.00 | \$109,678.00 | \$107.00 | \$96,193.00 | |
| 211 | 48" R.C.P. Storm Drain Pipe Class III | 92 | | \$135.77 | \$12,490.84 | \$145.00 | \$13,340.00 | \$138.00 | \$12,696.00 | |
| 212 | 4'x4' Box Culvert | 115 | | \$142.77 | \$16,418.55 | \$189.00 | \$21,735.00 | \$235.00 | \$27,025.00 | |
| 213 | 5'x4' Box Culvert | 56 | | \$194.81 | \$10,909.36 | \$228.00 | \$12,768.00 | \$265.00 | \$14,840.00 | |
| 214 | 10' Standard Curb Inlet | 2 | | \$3,203.14 | | \$2,940.00 | \$5,880.00 | \$3,400.00 | \$6,800.00 | |
| 215 | 10' Recessed Curb Inlet | 8 | | \$3,400.76 | | \$2,940.00 | \$23,520.00 | \$3,600.00 | \$28,800.00 | |
| 216 | 15' Recessed Curb Inlet | 8 | | \$4,193.17 | \$33,545.36 | \$4,020.00 | \$32,160.00 | \$4,250.00 | \$34,000.00 | |
| 217 | 3'x3' Drop Inlet | 2 | | \$1,896.50 | | \$2,900.00 | \$5,800.00 | \$2,300.00 | \$4,600.00 | |
| 218 | 4'x4' Drop Inlet | 1 | EA | \$2,228.81 | \$2,228.81 | \$3,235.00 | \$3,235.00 | \$2,500.00 | \$2,500.00 | |
| 219 | Special Junction Box w/Riser | 1 | EA | \$6,236.98 | | \$4,630.00 | \$4,630.00 | \$6,200.00 | \$6,200.00 | |
| 220 | FW-S Headwall | 1 | EA | \$4,518.99 | | \$6,510.00 | \$6,510.00 | \$5,550.00 | \$5,550.00 | |
| 221 | Concrete Pilot Channel | 44 | | \$44.17 | \$1,943.48 | \$115.50 | \$5,082.00 | \$60.00 | \$2,640.00 | |
| 222 | Trench Safety | 4,980 | | \$0.50 | | \$0.11 | \$547.80 | \$0.10 | \$498.00 | |
| 223 | Temporary Asphalt Pavement Patch | 520 | LF | \$28.19 | | \$22.00 | \$11,440.00 | \$55.00 | \$28,600.00 | |
| | SUBTOTAL | | | | \$499,823.76 | | \$557,833.80 | | \$552,247.00 | |
| | | | | | | | | | | |

| | East Broad Street: approx. 700' east of Holland Road W.A. 09004 Bid Opening Date: May 16, 2013 | | XIT Paving & 3934 S. Hwy. Waxahachie, | | JLB Contract 7151 Randol Fort Worth, T | Mill Rd, PO Box 24131 | McClendon Construction Co., Inc. P.O. Box 999 Burleson, Texas 76097 | | |
|----------|--|----------|---------------------------------------|--------------|--|-----------------------|---|---------------------|----------------|
| ITEM NO. | | QUANTITY | UNIT | PRICE | COST | PRICE | COST | PRICE | COST |
| III | WATER IMPROVEMENTS | | | | | | | | |
| | 6" Water Main C-900 PVC | 109 | LF | \$40.30 | \$4,392.70 | \$33.60 | | \$42.00 | \$4,578.00 |
| 302 | 8" Water Main C-900 PVC | 118 | LF | \$43.47 | \$5,129.46 | \$40.00 | | \$44.00 | \$5,192.00 |
| 303 | 12" Water Main C-900 PVC | 230 | LF | \$45.21 | \$10,398.30 | \$54.00 | | \$50.00 | \$11,500.00 |
| 304 | 24" Water Main C-905 PVC | 57 | LF | \$112.78 | \$6,428.46 | \$154.00 | | \$123.00 | \$7,011.00 |
| | 6" Gate Valve | 3 | EA | \$923.36 | \$2,770.08 | \$1,115.00 | | \$850.00 | \$2,550.00 |
| 306 | 8"x6" Tapping Sleeve & 6" Valve | 1 | EA | \$2,717.46 | \$2,717.46 | \$2,625.00 | \$2,625.00 | \$3,000.00 | \$3,000.00 |
| 307 | 12"x8" Tapping Sleeve & 8" Valve | 1 | EA | \$3,520.46 | \$3,520.46 | \$3,340.00 | | \$3,800.00 | \$3,800.00 |
| 308 | 12"x12" Tapping Sleeve & 12" Valve | 2 | EA | \$4,605.94 | \$9,211.88 | \$5,000.00 | | \$6,200.00 | \$12,400.00 |
| 309 | Connect to Existing 24" Water Main | 2 | EA | \$2,985.27 | \$5,970.54 | \$2,740.00 | | \$4,300.00 | \$8,600.00 |
| 310 | Fire Hydrant Assembly | 4 | EA | \$2,676.38 | \$10,705.52 | \$3,000.00 | | \$2,500.00 | \$10,000.00 |
| 311 | Remove, Repaint & Re-Install Exist. Fire Hydrant | 7 | EA | \$1,792.83 | \$12,549.81 | \$1,980.00 | \$13,860.00 | \$250.00 | \$1,750.00 |
| 312 | Relocate Exist. Water Meter & Service | 3 | EA | \$1,039.95 | \$3,119.85 | \$445.00 | | \$800.00 | \$2,400.00 |
| 313 | Lower 8" Water Main @ S.D. Crossing | 2 | EΑ | \$3,378.47 | \$6,756.94 | \$3,725.00 | | \$5,000.00 | \$10,000.00 |
| 314 | Lower 4" S.S. Force Main @ W.L./S.D. Crossing | 3 | EA | \$3,488.47 | \$10,465.41 | \$2,900.00 | | \$3,200.00 | \$9,600.00 |
| 315 | Install Offset Air & Vacuum Release Valve | 1 | EΑ | \$2,827.46 | \$2,827.46 | \$5,160.00 | | \$2,000.00 | \$2,000.00 |
| 316 | 1" Domestic Water Service Tap & Meter Box | 1 | EΑ | \$1,356.80 | \$1,356.80 | \$1,080.00 | \$1,080.00 | \$1,150.00 | \$1,150.00 |
| 317 | 2" Domestic Water Service Tap & Meter Box | 1 | EΑ | \$1,856.20 | \$1,856.20 | \$2,600.00 | | \$2,250.00 | \$2,250.00 |
| 318 | 2" Irrigation Water Service, 1-1/2" Meter & Meter Box | 1 | EΑ | \$2,296.20 | \$2,296.20 | \$2,630.00 | | \$1,800.00 | \$1,800.00 |
| 319 | Ductile Iron Fittings | 4.4 | TON | \$4,290.00 | \$18,876.00 | \$4,915.00 | | \$3,800.00 | \$16,720.00 |
| 320 | Trench Safety | 515 | LF | \$1.00 | \$515.00 | \$0.11 | \$56.65 | \$1.00 | \$515.00 |
| 321 | Temporary Strt Repair For Water Main Lines | 125 | LF | \$42.73 | \$5,341.25 | \$19.50 | \$2,437.50 | \$35.00 | \$4,375.00 |
| | SUBTOTAL | | | | \$127,205.78 | | \$133,305.55 | | \$121,191.00 |
| | | | | | | | | | |
| IV | STREET LIGHT IMPROVEMENTS | | | | | | | | |
| 401 | 2" PVC Street Light Conduit | 4,370 | LF | \$4.62 | \$20,189.40 | \$3.95 | \$17,261.50 | \$3.85 | \$16,824.50 |
| 402 | Street Light Foundation | 20 | EA | \$582.00 | \$11,640.00 | \$910.00 | \$18,200.00 | \$485.00 | \$9,700.00 |
| 403 | Relocate Exist. Street Light & Reconnect Circuit | 4 | EΑ | \$1,980.00 | \$7,920.00 | \$1,735.00 | \$6,940.00 | \$1,650.00 | \$6,600.00 |
| | SUBTOTAL | | | | \$39,749.40 | | \$42,401.50 | | \$33,124.50 |
| | TRAFFIC CIONAL IMPROVEMENT | | | | | | | | |
| V | TRAFFIC SIGNAL IMPROVEMENT | | | 000470465 | # 004 7 04 05 | Фоос сос со | #200 000 co | COAA 0000 00 | 001100000 |
| 501 | Install Traffic Signal @ Broad & Day Miar Intersection | 1 | LS | \$224,701.05 | \$224,701.05 | \$236,000.00 | \$236,000.00 | \$214,000.00 | \$214,000.00 |
| | SUBTOTAL | | | | \$224,701.05 | | \$236,000.00 | | \$214,000.00 |
| | TOTAL CONSTRUCTION | | | | \$2.407.545.04 | | f2 240 427 24 | | £2.420.402.75 |
| | TOTAL CONSTRUCTION | | | | \$3,187,545.31 | | \$3,319,197.91 | | \$3,430,430.75 |
| | | | | | | | | | |

| | Bid Opening Date: May 16, 2013 | | | eracting L.P. 66 5015-3086 | Pavecon P.O. Box 5354 Grand Prairie, | | SYB Construct 421 Compton Irving, Texas | ŕ | Fain P.O. Box 750 Fort Worth, Texas 76101 | | |
|----------|---|-----------------------|------------------------|----------------------------------|--|-----------------------------|---|-----------------------------|---|------------------------------|--|
| ITEM NO. | DESCRIPTION OF ITEM | QUANTITY UNIT | PRICE | COST | PRICE | COST | PRICE | COST | PRICE | COST | |
| | DAYMA | | | | | | | | | | |
| _ | PAVING | 4 10 | \$470.400.50 | \$470.400.50 | £440.400.40 | # 440.400.40 | #000 050 00 | # 000 050 00 | # 400,000,00 | # 400,000,00 | |
| | Bonds, Insurance & Mobilization | 1 LS 15,861 CY | \$179,102.53 \$7.68 | \$179,102.53 \$124,842,48 | \$110,180.16 | \$110,180.16 | \$238,250.00 \$8.05 | \$238,250.00 | \$192,000.00 | \$192,000.00 \$142,749.00 | |
| | Unclassified Roadway Excavation Controlled Density Roadway Embankment | 15,861 CY 5,246 CY | \$6.42 | \$121,812.48 \$33,679.32 | \$8.61 \$3.78 | \$136,563.21 \$19,829.88 | \$3.95 | \$127,681.05 \$20,721.70 | \$9.00 \$20.00 | \$142,749.00 | |
| | Right-of-way Preparation | 5,246 CY | \$97,121.00 | \$33,679.32 | \$117,706.34 | \$19,829.88 | \$22,850.00 | \$20,721.70 | \$20.00 | \$21,000.00 | |
| | Remove Exist. Conc. Street / Drive Pavement | 3,487 SY | \$5.02 | \$17,504.74 | \$5.04 | \$17,706.34 | \$22,850.00 | \$19,178.50 | \$21,000.00 | \$27,896.00 | |
| | Remove Exist. Median Cap | 16 SY | \$15.33 | \$245.28 | \$15.58 | \$249.28 | \$6.25 | \$19,176.50 | \$12.00 | \$192.00 | |
| | Remove Exist. Median Cap Remove Exist. Concrete Sidewalk | 96 SY | \$5.93 | \$569.28 | \$9.06 | \$869.76 | \$5.50 | \$528.00 | \$9.00 | \$864.00 | |
| | Remove Exist. Concrete Sidewalk | 162 SY | \$5.03 | \$814.86 | \$15.45 | \$2,502.90 | \$6.70 | \$1,085.40 | \$8.00 | \$1,296.00 | |
| | Remove Exist. Conc. Pilot Channel | 40 SY | \$10.18 | \$407.20 | \$17.51 | \$700.40 | \$7.00 | \$280.00 | \$11.00 | \$440.00 | |
| | Remove Exist. 30 " HDPE Storm Drain Pipe | 796 LF | \$12.51 | \$9,957.96 | \$12.36 | \$9,838.56 | \$7.00 | \$5,572.00 | \$14.00 | \$11,144.00 | |
| | Remove Exist. 15" to 18" CMP | 134 LF | \$11.15 | \$1,494.10 | \$9.27 | \$1,242.18 | \$5.25 | \$703.50 | \$10.00 | \$1,340.00 | |
| | Remove 15" to 30" RCP Storm Drain Pipe | 798 LF | \$12.48 | \$9,959.04 | \$11.33 | \$9,041.34 | \$12.00 | \$9,576.00 | \$11.00 | \$8,778.00 | |
| | Remove Exist. Drop Inlet | 3 EA | \$350.40 | \$1,051.20 | \$334.75 | \$1,004.25 | \$420.00 | \$1,260.00 | \$625.00 | \$1,875.00 | |
| | Remove Exist. Curb Inlet | 2 EA | \$420.49 | \$840.98 | \$334.75 | \$669.50 | \$540.00 | \$1,080.00 | \$625.00 | \$1,250.00 | |
| | Remove Exist. Grate Inlet | 2 EA | \$420.49 | \$840.98 | \$334.75 | \$669.50 | \$320.00 | \$640.00 | \$650.00 | \$1,300.00 | |
| | Remove Exist. 18" to 30" Sloping Headwall | 3 EA | \$350.40 | \$1,051.20 | \$396.55 | \$1,189.65 | \$440.00 | \$1,320.00 | \$1,200.00 | \$3,600.00 | |
| | Remove Exist. Dbl. 24" Sloping Headwall | 1 EA | \$368.31 | \$368.31 | \$396.55 | \$396.55 | \$510.00 | \$510.00 | \$1,350.00 | \$1,350.00 | |
| | Remove Exist. Dbl. 24" Flared Headwall | 1 EA | \$368.31 | \$368.31 | \$494.40 | \$494.40 | \$510.00 | \$510.00 | \$1,800.00 | \$1,800.00 | |
| | Remove Exist. Storm Drain Manhole | 1 EA | \$995.61 | \$995.61 | \$978.50 | \$978.50 | \$640.00 | \$640.00 | \$1,900.00 | \$1,900.00 | |
| 119 | Remove Exist. Chain Link Fence | 508 LF | \$4.48 | \$2,275.84 | \$2.63 | \$1,336.04 | \$0.85 | \$431.80 | \$3.00 | \$1,524.00 | |
| 120 | Remove & Salvage Existing Farm Gate | 1 EA | \$358.40 | \$358.40 | \$52.50 | \$52.50 | \$260.00 | \$260.00 | \$60.00 | \$60.00 | |
| 121 | Remove Exist. Fiberglass Rail Fence | 381 LF | \$5.60 | \$2,133.60 | \$2.63 | \$1,002.03 | \$1.15 | \$438.15 | \$3.00 | \$1,143.00 | |
| | Remove Exist. Pavement Markings | 1 LS | \$1,890.00 | \$1,890.00 | \$1,771.88 | \$1,771.88 | \$2,700.00 | \$2,700.00 | \$2,900.00 | \$2,900.00 | |
| 123 | 12" Lime Stabilized Subgrade (54 lbs/SY) | 31,721 SY | \$3.20 | \$101,507.20 | \$5.05 | \$160,191.05 | \$3.30 | \$104,679.30 | \$3.00 | \$95,163.00 | |
| | Hydrated Lime | 856.4 TON | \$150.08 | \$128,528.51 | \$137.59 | \$117,832.08 | \$150.00 | \$128,460.00 | \$180.00 | \$154,152.00 | |
| | 7" Reinforced Concrete Street Pavement | 832 SY | \$45.87 | \$38,163.84 | \$60.52 | \$50,352.64 | \$50.00 | \$41,600.00 | \$39.00 | \$32,448.00 | |
| | 9" Reinforced Concrete Street Pavement | 28,003 SY | \$34.64 | \$970,023.92 | \$41.10 | \$1,150,923.30 | \$44.00 | \$1,232,132.00 | \$45.00 | \$1,260,135.00 | |
| 127 | 10" Reinforced Concrete Street Pavement | 163 SY | \$88.04 | \$14,350.52 | \$58.08 | \$9,467.04 | \$57.00 | \$9,291.00 | \$48.00 | \$7,824.00 | |
| | 6" Concrete Curb & Gutter | 19 LF | \$30.92 | \$587.48 | \$30.55 | \$580.45 | \$29.00 | \$551.00 | \$14.00 | \$266.00 | |
| | 6" Type "D" Asphaltic Pavement | 810 SY | \$38.86 | \$31,476.60 | \$37.96 | \$30,747.60 | \$38.00 | \$30,780.00 | \$38.00 | \$30,780.00 | |
| | 6" Rolled Asphalt Curb | 227 LF | \$14.56 | \$3,305.12 | \$6.87 | \$1,559.49 | \$14.50 | \$3,291.50 | \$10.00 | \$2,270.00 | |
| | 6" Reinforced Concrete Drive Pavement | 1,903 SY | \$40.33 | \$76,747.99 | \$52.99 | \$100,839.97 | \$46.00 | \$87,538.00 | \$38.00 | \$72,314.00 | |
| | 4" Thick Reinforced Concrete Sidewalk | 4,808 SY | \$33.49 | \$161,019.92 | \$30.72 | \$147,701.76 | \$29.50 | \$141,836.00 | \$28.00 | \$134,624.00 | |
| | Reinforced Concrete Retaining Wall | 58.1 CY | \$525.39 | \$30,525.16 | \$874.94 | \$50,834.01 | \$638.00 | \$37,067.80 | \$980.00 | \$56,938.00 | |
| | Curb Ramps per TxDOT Details | 17 EA | \$218.40 | \$3,712.80 | \$1,242.29 | \$21,118.93 | \$1,200.00 | \$20,400.00 | \$602.00 | \$10,234.00 | |
| 135 | Curb Ramps per Plan Detail Sheet P312 | 7 EA | \$218.40 | \$1,528.80 | \$1,124.85 | \$7,873.95 | \$1,150.00 | \$8,050.00 | \$871.00 | \$6,097.00 | |

| | East Broad Street: approx. 700' east of Holland Road W.A. 09004 Bid Opening Date: May 16, 2013 | | McMahon Con P.O. Box 1530 | • | Pavecon P.O. Box 53545 | 7 | SYB Construction Co., Inc. 421 Compton | | Fain P.O. Box 750 | | |
|----------|--|----------|------------------------------|-----------------|---------------------------|------------------|---|------------------|----------------------|----------------|-------------|
| | | | | Irving, Texas 7 | 5015-3086 | Grand Prairie, T | Texas 75053 | Irving, Texas 75 | 5061 | Fort Worth, Te | xas 76101 |
| ITEM NO. | DESCRIPTION OF ITEM | QUANTITY | UNIT | PRICE | COST | PRICE | COST | PRICE | COST | PRICE | COST |
| 136 | Curb Ramps per City Std. Details | 2 | EA | \$218.40 | \$436.80 | \$1,096.83 | \$2,193.66 | \$775.00 | \$1,550.00 | \$631.00 | \$1,262.00 |
| 137 | Pavestone Median Cap | 534 | SY | \$76.26 | \$40,722.84 | \$74.69 | \$39,884.46 | \$73.65 | \$39,329.10 | \$70.00 | \$37,380.00 |
| 138 | Place 4" Topsoil on Medians, Parkways & Slopes | 27,558 | SY | \$1.54 | \$42,439.32 | \$0.58 | \$15,983.64 | \$2.20 | \$60,627.60 | \$2.00 | \$55,116.00 |
| 139 | Bermuda Grass Sod | 5,333 | | \$2.63 | \$14,025.79 | \$3.18 | \$16,958.94 | \$5.50 | \$29,331.50 | \$3.00 | \$15,999.00 |
| 140 | Hydromulch Seed Parkways, Medians & Slopes | 22,225 | | \$0.37 | \$8,223.25 | \$0.81 | \$18,002.25 | \$1.20 | \$26,670.00 | \$1.00 | \$22,225.00 |
| 141 | 6" Sch. 40 PVC Irrigation Conduit | 452 | LF | \$8.96 | \$4,049.92 | \$12.60 | \$5,695.20 | \$7.40 | \$3,344.80 | \$20.00 | \$9,040.00 |
| 142 | 4" Sch. 40 PVC Grey Electrical Conduit | 452 | LF | \$11.20 | \$5,062.40 | \$10.50 | \$4,746.00 | \$5.60 | \$2,531.20 | \$15.00 | \$6,780.00 |
| 143 | 4" SDR Type "A" Perforated Pipe Ret. Wall Underdrain | 68 | LF | \$20.66 | \$1,404.88 | \$16.48 | \$1,120.64 | \$10.00 | \$680.00 | \$10.00 | \$680.00 |
| 144 | 6" SDR Type "A" Perforated Pipe Sub-drain | 5,602 | LF | \$14.52 | \$81,341.04 | \$18.54 | \$103,861.08 | \$16.25 | \$91,032.50 | \$11.00 | \$61,622.00 |
| 145 | Sub-Drain Clean-out | 19 | EA | \$117.94 | \$2,240.86 | \$463.50 | \$8,806.50 | \$175.00 | \$3,325.00 | \$100.00 | \$1,900.00 |
| 146 | Concrete Street Header | 61 | LF | \$8.50 | \$518.50 | \$15.07 | \$919.27 | \$13.75 | \$838.75 | \$27.00 | \$1,647.00 |
| 147 | 5-Strand Smooth Wire Fence | 2,060 | LF | \$6.16 | \$12,689.60 | \$3.52 | \$7,251.20 | \$4.95 | \$10,197.00 | \$4.00 | \$8,240.00 |
| 148 | 6' High Chain Link Fence | 465 | LF | \$20.61 | \$9,583.65 | \$18.38 | \$8,546.70 | \$20.00 | \$9,300.00 | \$21.00 | \$9,765.00 |
| 149 | Double 6' Chain Link Fence Gate | 1 | EA | \$963.20 | \$963.20 | \$1,260.00 | \$1,260.00 | \$910.00 | \$910.00 | \$1,450.00 | \$1,450.00 |
| 150 | Install Salvaged Farm Gate | 1 | EA | \$358.40 | \$358.40 | \$157.50 | \$157.50 | \$430.00 | \$430.00 | \$180.00 | \$180.00 |
| 151 | Install Temp. Smooth Wire Const. Phase Fence | 350 | LF | \$6.16 | \$2,156.00 | \$3.15 | \$1,102.50 | \$4.30 | \$1,505.00 | \$3.50 | \$1,225.00 |
| 152 | Remove Temp. Construction Phase Fencing | 350 | | \$1.68 | \$588.00 | \$1.05 | \$367.50 | \$1.15 | \$402.50 | \$1.20 | \$420.00 |
| 153 | Type "D" Pedestrian Handrail | 43 | LF | \$110.31 | \$4,743.33 | \$149.10 | \$6,411.30 | \$118.00 | \$5,074.00 | \$133.00 | \$5,719.00 |
| 154 | Adjust or Relocate Exist. Lowe's Farm Irrigation | 1 | LS | \$6,496.00 | \$6,496.00 | \$6,090.00 | \$6,090.00 | \$3,000.00 | \$3,000.00 | \$33,894.00 | \$33,894.00 |
| 155 | Adj. or Relocate Exist. Bankston Meadows Irrigation | 1 | LS | \$1,792.00 | \$1,792.00 | \$1,680.00 | \$1,680.00 | \$1,900.00 | \$1,900.00 | \$8,400.00 | \$8,400.00 |
| 156 | Adj. or Relocate Exist. Mira Lagos Irrigation | 1 | LS | \$1,904.00 | \$1,904.00 | \$1,785.00 | \$1,785.00 | \$1,350.00 | \$1,350.00 | \$6,000.00 | \$6,000.00 |
| 157 | Adjust Exist. W.V. to Finished Grade | 23 | EA | \$95.72 | \$2,201.56 | \$210.00 | \$4,830.00 | \$140.00 | \$3,220.00 | \$150.00 | \$3,450.00 |
| 158 | Adjust Exist. W.M. to Finished Grade | 1 | EA | \$440.28 | \$440.28 | \$210.00 | \$210.00 | \$100.00 | \$100.00 | \$150.00 | \$150.00 |
| 159 | Relocate School Zone Flasher & Sign | 3 | EA | \$3,024.00 | \$9,072.00 | \$2,835.00 | \$8,505.00 | \$1,650.00 | \$4,950.00 | \$1,100.00 | \$3,300.00 |
| 160 | Remove & Replace Rock Column & Footing | 1 | EA | \$840.00 | \$840.00 | \$5,134.05 | \$5,134.05 | \$825.00 | \$825.00 | \$4,800.00 | \$4,800.00 |
| 161 | Relocate Existing Commercial Sign | 2 | EA | \$224.00 | \$448.00 | \$918.24 | \$1,836.48 | \$550.00 | \$1,100.00 | \$665.00 | \$1,330.00 |
| 162 | 4" Round White Type 1-W Ref. Ceramic Pvmt Markers | 359 | EA | \$9.91 | \$3,557.69 | \$9.29 | \$3,335.11 | \$7.55 | \$2,710.45 | \$7.20 | \$2,584.80 |
| 163 | 4" Non-reflectorized White Ceramic Pavement Markers | 1,841 | EA | \$3.34 | \$6,148.94 | \$3.13 | \$5,762.33 | \$2.90 | \$5,338.90 | \$3.75 | \$6,903.75 |
| 164 | 4" Type II-C-R Pavement Markers | 29 | | \$3.79 | \$109.91 | \$3.55 | \$102.95 | \$3.15 | \$91.35 | \$7.20 | \$208.80 |
| 165 | 4" Round White Type 2-Y Ref. Ceramic Pvmt Markers | 82 | EA | \$12.71 | \$1,042.22 | \$11.92 | \$977.44 | \$10.00 | \$820.00 | \$7.20 | \$590.40 |
| 166 | 4" Non-reflectorized Type AY Ceramic Pvmt Markers | 120 | EA | \$3.34 | \$400.80 | \$3.13 | \$375.60 | \$2.90 | \$348.00 | \$3.50 | \$420.00 |
| 167 | 4" x 10' Thermoplastic White Broken Stripe | 120 | | \$0.95 | \$114.00 | \$0.89 | \$106.80 | \$1.10 | \$132.00 | \$0.80 | \$96.00 |
| 168 | 4" x 2' Thermoplastic Broken Stripe (Puppy Tracks) | 30 | | \$1.12 | \$33.60 | \$1.05 | \$31.50 | \$5.50 | \$165.00 | \$0.80 | \$24.00 |
| 169 | 4" Wide White Thermoplastic Continuous Stripe | 255 | | \$0.95 | \$242.25 | \$0.89 | \$226.95 | \$1.10 | \$280.50 | \$0.80 | \$204.00 |
| 170 | Double 4" Yellow Thermoplastic Continuous Stripe | 103 | LF | \$1.90 | \$195.70 | \$1.79 | \$184.37 | \$2.20 | \$226.60 | \$1.50 | \$154.50 |
| 171 | 24" Type I Thermoplastic Stop Bar | 319 | | \$5.71 | \$1,821.49 | \$5.36 | \$1,709.84 | \$5.50 | \$1,754.50 | \$7.20 | \$2,296.80 |
| 172 | Type 1 Thermoplastic Intersection Crosswalk (24"x8') | 82 | EA | \$44.80 | \$3,673.60 | \$42.00 | \$3,444.00 | \$62.00 | \$5,084.00 | \$57.00 | \$4,674.00 |
| 173 | Type I Thermoplastic Left Turn Arrow | 4 | EA | \$117.60 | \$470.40 | \$110.25 | \$441.00 | \$122.00 | \$488.00 | \$150.00 | \$600.00 |

| | East Broad Street: approx. 700' east of Holland Road to City Limits W.A. 09004 Bid Opening Date: May 16, 2013 | | | McMahon Cor P.O. Box 1530 Irving, Texas 7 | 86 | Pavecon P.O. Box 5354 Grand Prairie, | | SYB Construction Co., Inc. 421 Compton Irving, Texas 75061 | | Fain P.O. Box 750 Fort Worth, Texas 76101 | |
|------------|---|--------------|----------|---|--------------------------|--|---------------------------|--|----------------------------|---|---------------------------|
| ITEM NO. | DESCRIPTION OF ITEM | QUANTITY | UNIT | PRICE | COST | PRICE | COST | PRICE | COST | PRICE | COST |
| 174 | Type I Thermoplastic Right Turn Arrow | 5 | EA | \$117.60 | \$588.00 | \$110.25 | \$551.25 | \$122.00 | \$610.00 | \$150.00 | \$750.00 |
| 175 | Type I White Thermoplastic Through/Left Turn Arrow | 2 | EA | \$196.00 | \$392.00 | \$183.75 | \$367.50 | \$182.00 | \$364.00 | \$265.00 | \$530.00 |
| 176 | Type I White Thermoplastic Through/Right Turn Arrow | 1 | EA | \$196.00 | \$196.00 | \$183.75 | \$183.75 | \$182.00 | \$182.00 | \$265.00 | \$265.00 |
| 177 | Type I White Thermoplastic Straight / Merge Arrow | 2 | EA | \$196.00 | \$392.00 | \$183.75 | \$367.50 | \$122.00 | \$244.00 | \$114.00 | \$228.00 |
| 178 | Type I White Thermoplastic Word "ONLY" | 6 | EA | \$117.60 | \$705.60 | \$110.25 | \$661.50 | \$143.00 | \$858.00 | \$132.00 | \$792.00 |
| 179 | Erosion Control Measures | 1 | LS | \$22,715.84 | \$22,715.84 | \$22,720.45 | \$22,720.45 | \$15,400.00 | \$15,400.00 | \$61,000.00 | \$61,000.00 |
| 180 | Traffic Control Measures | 1 | LS | \$41,337.59 | \$41,337.59 | \$43,548.75 | \$43,548.75 | \$22,000.00 | \$22,000.00 | \$42,000.00 | \$42,000.00 |
| 181 | Type A Grade 1 Flex Base for Temp drive access | 500 | CY | \$12.43 | \$6,215.00 | \$68.11 | \$34,055.00 | \$46.00 | \$23,000.00 | \$128.00 | \$64,000.00 |
| 182 | Temp 6" Type "D" HMAC | 2,400 | SY | \$44.51 | \$106,824.00 | \$38.42 | \$92,208.00 | \$37.00 | \$88,800.00 | \$43.00 | \$103,200.00 |
| | SUBTOTAL | | | | \$2,498,238.33 | | \$2,770,586.02 | | \$2,774,413.95 | | \$2,988,062.05 |
| | | | | | | | | | | | |
| II | DRAINAGE | | | | | | | | | | |
| 201 | 18" R.C.P. Storm Drain Pipe Class III | 618 | LF | \$42.08 | \$26,005.44 | \$48.41 | \$29,917.38 | \$43.50 | \$26,883.00 | \$53.00 | \$32,754.00 |
| 202 | 21" R.C.P. Storm Drain Pipe Class III | 464 | LF | \$49.70 | \$23,060.80 | \$54.59 | \$25,329.76 | \$49.00 | \$22,736.00 | \$59.00 | \$27,376.00 |
| 203 | 24" R.C.P. Storm Drain Pipe Class III | 418 | | \$56.25 | \$23,512.50 | \$58.71 | \$24,540.78 | \$54.00 | \$22,572.00 | \$64.00 | \$26,752.00 |
| | 24" R.C.P. Storm Drain Pipe Class IV | 29 | | \$62.19 | \$1,803.51 | \$64.89 | \$1,881.81 | \$62.00 | \$1,798.00 | \$70.00 | \$2,030.00 |
| | 27" R.C.P. Storm Drain Pipe Class III | 665 | | \$60.58 | \$40,285.70 | \$65.92 | \$43,836.80 | \$61.00 | \$40,565.00 | \$72.00 | \$47,880.00 |
| | 30" R.C.P. Storm Drain Pipe Class III | 664 | | \$69.22 | \$45,962.08 | \$75.19 | \$49,926.16 | \$69.50 | \$46,148.00 | \$78.00 | \$51,792.00 |
| 207 | 30" R.C.P. Storm Drain Pipe Class IV | 61 | | \$76.75 | \$4,681.75 | \$83.43 | \$5,089.23 | \$82.00 | \$5,002.00 | \$78.00 | \$4,758.00 |
| 208 | 33" R.C.P. Storm Drain Pipe Class III | 270 | | \$78.76 | \$21,265.20 | \$85.49 | \$23,082.30 | \$77.00 | \$20,790.00 | \$82.00 | \$22,140.00 |
| 209 | 36" R.C.P. Storm Drain Pipe Class III | 986 | | \$86.75 | \$85,535.50 | \$96.82 | \$95,464.52 | \$86.50 | \$85,289.00 | \$90.00 | \$88,740.00 |
| | 42" R.C.P. Storm Drain Pipe Class III | 899 | | \$118.39 | \$106,432.61 | \$133.90 | \$120,376.10 | \$120.00 | \$107,880.00 | \$128.00 | \$115,072.00 |
| 211 | 48" R.C.P. Storm Drain Pipe Class III | 92 | | \$139.14 | \$12,800.88 | \$152.44 | \$14,024.48 | \$142.00 | \$13,064.00 | \$145.00 | \$13,340.00 |
| | 4'x4' Box Culvert | 115 | | \$151.84 | \$17,461.60 | \$187.46 | \$21,557.90 | \$180.00 | \$20,700.00 | \$266.00 | \$30,590.00 |
| | 5'x4' Box Culvert | 56 | | \$182.08 | \$10,196.48 | \$173.04 | \$9,690.24 | \$210.00 | \$11,760.00 | \$278.00 | \$15,568.00 |
| 214 | 10' Standard Curb Inlet | 2 | | \$3,024.00 | \$6,048.00 | \$2,729.50 | \$5,459.00 | \$3,000.00 | \$6,000.00 | \$3,900.00 | \$7,800.00 |
| 215 | 10' Recessed Curb Inlet | 8 | | \$3,024.00 | \$24,192.00 | \$2,832.50 | \$22,660.00 | \$3,000.00 | \$24,000.00 | \$4,200.00 | \$33,600.00 |
| 216 | 15' Recessed Curb Inlet | 8 | | \$4,088.00 | \$32,704.00 | \$3,527.75 | \$28,222.00 | \$4,000.00 | \$32,000.00 | \$5,055.00 | \$40,440.00 |
| 217 | 3'x3' Drop Inlet | 2 | | \$2,912.00 | \$5,824.00 | \$1,287.50 | \$2,575.00 | \$2,900.00 | \$5,800.00 | \$6,500.00 | \$13,000.00 |
| 218 | 4'x4' Drop Inlet | 1 | EA | \$3,248.00 | \$3,248.00 | \$1,699.50 | \$1,699.50 | \$3,200.00 | \$3,200.00 | \$6,980.00 | \$6,980.00 |
| 219 | Special Junction Box w/Riser | 1 | EA EA | \$4,592.00 | \$4,592.00 | \$2,209.35 | \$2,209.35 | \$4,500.00 | \$4,500.00 | \$8,100.00 | \$8,100.00 |
| 220 221 | FW-S Headwall Concrete Pilot Channel | 1 44 | | \$6,440.00 \$106.40 | \$6,440.00 \$4,681.60 | \$4,655.60 \$24.72 | \$4,655.60 \$1,087.68 | \$6,400.00 \$95.00 | \$6,400.00 \$4,180.00 | \$6,700.00 \$55.00 | \$6,700.00 \$2,420.00 |
| 222 | | | | | | | | | | | \$9,960.00 |
| 222 | Trench Safety Temporary Asphalt Pavement Patch | 4,980 520 | | \$0.11 \$31.93 | \$547.80 \$16,603.60 | \$2.83 \$13.34 | \$14,093.40 \$6,936.80 | \$1.00 \$15.00 | \$4,980.00 \$7,800.00 | \$2.00 \$43.00 | \$9,960.00 \$22,360.00 |
| 223 | SUBTOTAL | 520 | ഥ | Ф31.93 | \$523,885.05 | φ13.3 4 | \$554,315.79 | φ15.00 | \$7,800.00 \$524,047.00 | φ43.00 | \$630,152.00 |
| | SUBTUTAL | | | + | ₱ 523,085.U5 | | Ф 554,315.79 | + | Φ324,047.00 | | φου, 152.00 |
| | | |] | | | | | | | | |

| | Bid Opening Date: May 16, 2013 | | | tracting L.P. | Pavecon P.O. Box 5354 | | SYB Construc 421 Compton Irving, Texas 7 | | Fain P.O. Box 750 Fort Worth, Texas 76101 | | |
|----------|--|---------------|--|----------------|--|----------------|--|----------------|---|----------------|--|
| | | | Irving, Texas 7 | 3013-3000 | · I | | | | | | |
| ITEM NO. | DESCRIPTION OF ITEM | QUANTITY UNIT | PRICE | COST | PRICE | COST | PRICE | COST | PRICE | COST | |
| | WATER IMPROVEMENTS | | | | | | | | | | |
| | 6" Water Main C-900 PVC | 109 LF | \$35.88 | \$3,910.92 | \$33.99 | \$3,704.91 | \$47.00 | \$5,123.00 | \$96.00 | \$10,464.00 | |
| | 8" Water Main C-900 PVC | 118 LF | \$40.80 | \$4,814.40 | \$39.14 | \$4,618.52 | \$47.50 | \$5,605.00 | \$108.00 | \$12,744.00 | |
| | 12" Water Main C-900 PVC | 230 LF | \$52.02 | \$11,964.60 | \$41.20 | \$9,476.00 | \$59.00 | \$13,570.00 | \$121.00 | \$27,830.00 | |
| | 24" Water Main C-905 PVC | 57 LF | \$144.02 | \$8,209.14 | \$83.95 | \$4,785.15 | \$227.00 | \$12,939.00 | \$217.00 | \$12,369.00 | |
| | 6" Gate Valve | 3 EA | \$953.73 | \$2,861.19 | \$988.80 | \$2,966.40 | \$875.00 | \$2,625.00 | \$1,100.00 | \$3,300.00 | |
| | 8"x6" Tapping Sleeve & 6" Valve | 1 EA | \$1,673.58 | \$1,673.58 | \$1,632.55 | \$1,632.55 | \$2,675.00 | \$2,675.00 | \$3,873.00 | \$3,873.00 | |
| | 12"x8" Tapping Sleeve & 8" Valve | 1 EA | \$2,478.86 | \$2,478.86 | \$2,121.80 | \$2,121.80 | \$3,325.00 | \$3,325.00 | \$3,900.00 | \$3,900.00 | |
| | 12"x12" Tapping Sleeve & 12" Valve | 2 EA | \$4,465.92 | \$8,931.84 | \$4,331.15 | \$8,662.30 | \$4,750.00 | \$9,500.00 | \$4,500.00 | \$9,000.00 | |
| | Connect to Existing 24" Water Main | 2 EA | \$3,097.75 | \$6,195.50 | \$2,961.25 | \$5,922.50 | \$3,750.00 | \$7,500.00 | \$13,000.00 | \$26,000.00 | |
| | Fire Hydrant Assembly | 4 EA | \$2,329.64 | \$9,318.56 | \$2,523.50 | \$10,094.00 | \$2,550.00 | \$10,200.00 | \$4,200.00 | \$16,800.00 | |
| | Remove, Repaint & Re-Install Exist. Fire Hydrant | 7 EA | \$1,790.84 | \$12,535.88 | \$1,645.94 | \$11,521.58 | \$2,350.00 | \$16,450.00 | \$7,250.00 | \$50,750.00 | |
| | Relocate Exist. Water Meter & Service | 3 EA | \$880.05 | \$2,640.15 | \$322.39 | \$967.17 | \$500.00 | \$1,500.00 | \$1,500.00 | \$4,500.00 | |
| | Lower 8" Water Main @ S.D. Crossing | 2 EA | \$2,189.68 | \$4,379.36 | \$3,196.09 | \$6,392.18 | \$3,550.00 | \$7,100.00 | \$4,800.00 | \$9,600.00 | |
| | Lower 4" S.S. Force Main @ W.L./S.D. Crossing | 3 EA | \$1,864.24 | \$5,592.72 | \$2,084.72 | \$6,254.16 | \$3,450.00 | \$10,350.00 | \$3,000.00 | \$9,000.00 | |
| | Install Offset Air & Vacuum Release Valve | 1 EA | \$2,277.50 | \$2,277.50 | \$3,383.55 | \$3,383.55 | \$3,150.00 | \$3,150.00 | \$3,800.00 | \$3,800.00 | |
| | 1" Domestic Water Service Tap & Meter Box | 1 EA | \$1,515.26 | \$1,515.26 | \$803.40 | \$803.40 | \$1,000.00 | \$1,000.00 | \$1,080.00 | \$1,080.00 | |
| | 2" Domestic Water Service Tap & Meter Box | 1 EA | \$2,385.17 | \$2,385.17 | \$1,365.78 | \$1,365.78 | \$1,550.00 | \$1,550.00 | \$2,420.00 | \$2,420.00 | |
| | 2" Irrigation Water Service, 1-1/2" Meter & Meter Box | 1 EA | \$1,791.87 | \$1,791.87 | \$1,211.28 | \$1,211.28 | \$1,750.00 | \$1,750.00 | \$3,380.00 | \$3,380.00 | |
| | Ductile Iron Fittings | 4.4 TON | \$3,134.47 | \$13,791.67 | \$6,035.80 | \$26,557.52 | \$5,100.00 | \$22,440.00 | \$3,600.00 | \$15,840.00 | |
| 320 | Trench Safety | 515 LF | \$1.09 | \$561.35 | \$2.83 | \$1,457.45 | \$1.00 | \$515.00 | \$2.00 | \$1,030.00 | |
| 321 | Temporary Strt Repair For Water Main Lines | 125 LF | \$40.05 | \$5,006.25 | \$9.79 | \$1,223.75 | \$11.75 | \$1,468.75 | \$43.00 | \$5,375.00 | |
| | SUBTOTAL | | | \$112,835.77 | | \$115,121.95 | _ | \$140,335.75 | | \$233,055.00 | |
| IV | STREET LIGHT IMPROVEMENTS | | | | | | | | | | |
| | 2" PVC Street Light Conduit | 4,370 LF | \$6.16 | \$26,919.20 | \$5.78 | \$25,258.60 | \$4.10 | \$17,917.00 | \$9.00 | \$39,330.00 | |
| | Street Light Foundation | 20 EA | \$840.00 | \$16,800.00 | \$787.50 | \$15,750.00 | \$950.00 | \$19,000.00 | \$355.00 | \$7,100.00 | |
| | Relocate Exist. Street Light & Reconnect Circuit | 4 EA | \$3,365.60 | \$13,462.40 | \$3,155.25 | \$12,621.00 | \$1,820.00 | \$7,280.00 | \$1,788.00 | \$7,152.00 | |
| | SUBTOTAL | | , , , , , , , , , , , , , , , , , , , | \$57,181.60 | , , , , , , , , , , , , , , , , , , , | \$53,629.60 | , , , , , , , , , , , , , , , , , , , | \$44,197.00 | , , | \$53,582.00 | |
| V | TRAFFIC SIGNAL IMPROVEMENT | | | | | | | | | | |
| 501 | Install Traffic Signal @ Broad & Day Miar Intersection | 1 LS | \$239,681.12 | \$239,681.12 | \$224,701.05 | \$224,701.05 | \$247,225.00 | \$247,225.00 | \$219,000.00 | \$219,000.00 | |
| 301 | SUBTOTAL | 1 20 | Ψ200,001.12 | \$239,681.12 | ΨΖΖΨ,7 Ο 1.00 | \$224,701.05 | ΨΣ+1,220.00 | \$247,225.00 | Ψ213,000.00 | \$219,000.00 | |
| | SOBIOTAL | | | Ψ233,001.12 | | Ψ224,101.03 | | ΨΣ-11,223.00 | | Ψ219,000.00 | |
| | TOTAL CONSTRUCTION | | | \$3,431,821.87 | | \$3,718,354.41 | | \$3,730,218.70 | | \$4,123,851.05 | |
| | | | | | | | | | | | |